
1) Find the median of the following set of data:

9, 5, 29, 34, 33, 24, 37, 10, 23, 21, 
26, 29, 40, 13, 26, 22, 30, 35, 15, 33

Answer: ____________

2) 21.2 x 62.6

Answer: ____________

3) (10 x 45) + (6 x 83)

Answer: ____________

4)
35  Find Volume of Cone 

34

Answer: ____________

5) Simplify 96:35

Answer: ____________

6) Simplify 96:35

Answer: ____________

7) $339.00 earning 9% compound 
interest for 6 years.

Answer: ____________

8) 4/13 of 65

Answer: ____________

9) (3 x 78) x (3 x 74)

Answer: ____________

10) 37/5 - 6/19

Answer: ____________

11) Write 8 x 107 as a normal number.

Answer: ____________

12) Find the median of the following set of data:

20, 31, 17, 18, 40, 40, 24, 30, 15, 
27, 3, 37, 15, 19, 17, 21, 21, 26, 24, 
7

Answer: ____________

13) 2442 ÷ 74

Answer: ____________

14) An amount was decreased by 10% to 
$154.00. Find the original amount.

Answer: ____________

15) What would you multiply by to 
increase an amount by 97%?

Answer: ____________
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16) Share 64 in the ratio 5:11

Answer: ____________

17) 18669.4 ÷ 323

Answer: ____________

18) 66 x 100

Answer: ____________

19) b

a o c
Measure angle boc 

Answer: ____________

20) (10 x 11) x (1 x 94)

Answer: ____________

Total: ___ / 20
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Answers:

1) 23.5 2) 1327.12 3) 13312 4) 10592.403230354 5) 96 : 35 6) 96 : 35 7) $568.54

8) 20 9) 124571584809 10) 78/95 11) 80000000 12) 15 13) 33 14) $138.60

15) 1.97 16) 4 : 60 17) 57.8 18) 6600 19) 117 20) 65610
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